ORGANIC CHEMISTRY
(Common with B.Sc. & B.Sc. Biotechnology)

Semester-1
. Time Allowed : 3 Hours]

ote : The candidates are requi : ) tion A and B carrying 4
N marlﬁs eac‘P and the entire Section C consisting of 5 short answer type questions carrying
marks each.
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1. 2
a
2. 3
a
b
4 (a)

_ - 7 [Maximum Marks : 26
red to attempt twe questions each from Sec

Section - A _
Explain inductive effect. Why dichloro acetic acid is stronger than acetic acid ?

What are localised and delocolised chemical bonds ? Discuss with examples. 2,2
Discuss the structure of Carbene and Carbanion. ) ) B

What is isotopic labelling ? How. is it useful to determine mechanism of a reaction ? 2,2
What is meant by elimination and rearanglement reactions ? Explain. ‘
Allyl free radical is more stable than alkyl free radical. Why ?

2,2
How will you prepare alkanes by : .
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(b)
(a)

3

_Draw various coformations of n-butane and EXE

1)  Corey housc synthesis
1) Wurlz reaction ?

rite a note on selectivity and reactivity of alkanes in halogenation reaction. 2,2
. Scction - B
What hap?ens when :
) Cyc

opropane reacts with chlorine in the presence of light
i) Cyclopropane is heated with Conc. H,SO, ?

xplain Baeyer Strain Theory and give evidendes in favour of it. , 2,2
\mlljat do yoa understand byr}];',eomeglrical isomers ? Assign E or<Z configurations to the

following:
HF\ C/ CH;

C
0 . / \
r. NHCH,
C

HOO - Cl

(i) /C E C\
Cl CDCH,
H.C CHO

(ii_i) A N ~

C

_ =C
HC/ SSH

Explain the necessary conditions for a compound to be optically active with exagples. '

: a, 14
Give the differences between enantiomers and diastereomers.

\ ofo [ lain their relative order of stability. 2,2
What is recemisation ? Describe base catatysed recemisation with an example.

What-do you mean by 1,3 diaxiaé Mteractica(tjls ? Explain clearly. 2%, 1A
g ection -
Give the state of hybridisation of each carbon in the following compound.
CH,),-CH-CH=C=CH ‘ :
lassﬂ%the following S[?:‘ECIE% as electrophiles and nucleophiles
SO,,NO,", BF,, H,0, RNH,, _
What is fesonance’? Give tivo conditions for resonance.
What are threo and erythro isomers ?

Out of n-pentane and isopentane — Which has higher boiling point ? Why ?

2x 5= 1(
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